AKINS FORD DODGE JEEP CHRYSLER GOVERNMENT SALES

ROZ ICENHOUR

220 W MAY STREET, WINDER GA 30680 770.868.5271 800.282.7872 FAX 770.307.1952 RICENHOUR@AKINSONLINE.COM

2014 DODGE CHARGER PURSUIT VEHICLE

STATEWIDE CONTRACT

BASE PRICE

22,572.90

EQUIPMENT INCLUDED IN BASE PRICE	OPTIONS		PRICE	CODE
3.6L HIGH-OUTPUT V6 ENGINE (292 HP)	5.7L HEMI 370 HP	хx	\$ 408.35	24A
5-SPEED AUTOMATIC REAR-WHEEL DRIVE	FULL SIZE SPARE TIRE	ХX	\$ 144.00	TBW
ENGINE HOUR METER	DRIVERS SPOT LAMP	XX	\$ 185.12	LNF
ALL SPEED TRACTION CONTROL	LED SPOT LAMP BULB	XX	\$ 139.36	LNX
POLICE ABS 4-WHEEL HD DISC BRAKES	CARPET FLOORING W/FLOOR MATS		\$ 113.00	CKJ
P225/60R18 BSW PERFORMANCE TIRES	ENTIRE FLEET KEYED ALIKE		\$ 127.00	GXA
SUPPLEMENTAL SIDE CURTAIN AIR BAGS	POWER HEATED MIRRORS		\$ 54.00	GUK
POWER DOOR LOCKS/POWER WINDOWS	STREET APPEARANCE GROUP*		\$ 446.00	AEB
6-WAY POWER DRIVER'S SEAT	CLOTH FRONT / VINYL REAR BENCH	ХX	\$ 108.00	X5DV
AM/FM CD PLAYER	FULL SIZE WHEEL COVERS		\$ 28.00	W8A
SPEED CONTROL	TWO TONE PAINT		\$ 900.00	DLR
BLACK VINYL FLOOR COVERING	CONVENIENCE GROUP*		\$ 432.00	AHM
CLOTH BUCKET FRONT/CLOTH REAR BENCH	INOP RR LOCK/WINDOW/HANDLE(S)	XX	\$ 23.00	CW6
2.65 REAR AXLE RATIO	CONNECTIVITY GROUP *		\$ 446.00	AAJ
PUSH TO START/STOP ENGINE	FRONT READING/MAP LIGHTS		\$ 46.00	AJK
AIR CONDITIONING	ALL WHEEL DRIVE w/ 5.7L HEMI		\$ 1,398.00	E48
REMOTE KEYLESS ENTRY	BACK UP SENSOR 200.00			
RED/WHITE CENTER DOME/MAP LIGHT	DELIVERY			
MINI SPARE TIRE	TOTAL PRICE 23780.73			
EXTERIOR COLORS			 	

	EXTERIO	OR C	OLORS
PSC	BILLET SILVER		NO ADDITIONAL CHARGE
PX8	PITCH BLACK	XX	NO ADDITIONAL CHARGE
PAU	GRANITE CRYSTAL		NO ADDITIONAL CHARGE
PW7	BRIGHT WHITE		NO ADDITIONAL CHARGE
PBX	JAZZ BLUE		NO ADDITIONAL CHARGE
PWD	IVORY 3 COAT		\$ 445.00
PS2	BRIGHT SILVER		NO LONGER AVAILABLE
PWL	WHITE GOLD		\$ 445.00
PB5	ELECTRIC BLUE		\$ 445.00
PB8	MIDNIGHT BLUE		\$ 445.00
P76	SHERIFF'S TAN		\$ 445.00
PRY	REDLINE 3 COAT		\$ 445.00
P79	MICHIGAN BLUE		\$ 445.00

*STREET APPEARANCE GROUP:

FULL LENGTH FLOOR CONSOLE
ILLUMINATED FRONT CUPHOLDERS
POWER HEATED MIRRORS
FOG LAMPS
CHROME GRILLE
POWER HEATED MIRRORS
FULL SIZE WHEEL COVERS
REAR STABILIZER BAR
CARPET FLOOR COVERING W/MATS
FRONT READING/MAP LAMPS

*CONNECTIVITY GROUP:

RR VIEW AUTO DIM MIRROR W/MICROPHONE BLUETOOTH STREAMING AUDIO UCONNECT VOICE COMMAND W/BLUETOOTH

*CONVENIENCE GROUP:

POWER DRIVER AND PASSENGER 4-WAY LUMBAR ADJUST POWER DRIVER AND PASSENGER SEAT POWER ADJUSTABLE PEDALS

AKINS FORD DODGE JEEP CHRYSLER GOVERNMENT SALES

ROZ ICENHOUR

220 W MAY STREET, WINDER GA 30680 770.868.5271 800.282.7872 FAX 770.307.1952 RICENHOUR@AKINSONLINE.COM

2014 DODGE DURANGO RWD SPECIAL SERVICE VEHICLE

BASE PRICE \$ 25,475.00

		1		
EQUIPMENT INCLUDED IN BASE PRICE	OPTIONS	√	PRICE	CODE
	AILER TOW GROUP IV		\$ 625.00	
8-SPEED AUTOMATIC REAR-WHEEL DRIVE	LL SIZE SPARE TIRE	XX		
P265/60R18 BSW ON/OFF ROAD TIRES	IVERS SPOT LAMP	XX	\$ 300.00	DEALER
COMPACT SPARE TIRE AND WHEEL LED	D SPOT LAMP BULB		\$ 150.00	DEALER
FRONT AND REAR HEAT AND AIR CONDITIONING SIR	RIUS XM SATELLITE RADIO		\$ 176.00	RSD
REMOTE PROXIMITY KEYLESS ENTRY REA	AR BACK UP CAMERA	XX	\$ 700.00	DLR
SUPPLEMENTAL SIDE CURTAIN AIR BAGS ENC	GINE BLOCK HEATER		\$ 86.00	NHK
POWER DOOR LOCKS/POWER WINDOWS DAY	YTIME RUNNING LIGHTS		\$ 37.00	LM1
8 WAY POWER DRIVER'S SEAT W/LUMBAR SUPPORT SIN	IGLE DISC REMOTE CD PLAYER		\$ 405.00	RH1
AM/FM/BLUETOOTH STREAMING AUDIO SYSTEM 5.7L	L HEMI ENGINE	XX	\$ 997.91	24X
CARPET FLOOR COVERING W/FLOOR MATS ALL	L WHEEL DRIVE		1763.00	AWD
REAR VIEW AUTO DIM MIRROR WITH MICROPHONE	DELIVE	RY		
SPOTLAMP WIRING PREP	TOTAL PRI	CE	27,602.9	
PROJECTOR FOG LAMPS				
RAIN BRAKE SUPPORT				
OVERHEAD CONSOLE				
DEEP TINT SUNSCREEN GLASS				
POWER HEATED MIRRORS				
CLOTH BUCKETS FRONT				
CLOTH 60/40 FOLDING SEAT REAR				
FULL LENGTH FLOOR CONSOLE				
SPEED CONTROL/TILT STEERING WHEEL				
COVERED CARGO STORAGE				
EXTERIOR COLORS				
PSC BILLET SILVER				
PXR BRILLIANT BLACK XX				
PAU GRANITE CRYSTAL				
PW7 BRIGHT WHITE				
PAR MAXIMUM STEEL				
PBU TRUE BLUE				
PRM REDLINE 2				

Firehouse Graphics, Inc. DBA Sign Craft 21 Hampton Street

McDonough, GA 30253

Voice: 770 957-9697 Fax: 770 957-9614

Quoted To:

CITY OF GRIFFIN P.O. BOX T

231 EAST SOLOMON STREET GRIFFIN, GA 30224-0046

CITYG

QUOTATION

Quote Number: 973

Quote Date: Aug 29, 2014

Page:

Customer ID Good Thru Payment Terms Sales Rep

Net 15 Days

9/28/14

Quantity	Description	Unit Price	Amount
	PRINTED AND CUT REFLECTIVE GRAPHICS INSTALLED ON	375.00	1,500.00
	SIDES, REAR AND ROOF OF 2014 DODGE DURANGOS		·
2.00	PRINTED AND CUT REFLECTIVE GRAPHICS INSTALLED ON	375.00	750.00
	SIDES, REAR AND ROOF OF 2014 CHARGERS		
	•		
			!
; !			
0000			
			200

Subtotal	2,250.00
Sales Tax	
TOTAL	2,250.00



105 Manley Rd Griffin, GA 30223 phone(770)227-2200 fax(770)227-2860

Proposal

Customer: Griffin Police Depar	tment	_	
Name: Lt. Darrell Dix		Date:	8/29/2014
Address:		Quote#	
City/St/Zip:			
Phone:		_	
email:			

Quantity	DESCRIPTION	T	Price	TOT	AL	
				\$	-	
4	425-6275 - Jotto Desk Equipment Console		\$275.00	\$	1,100.00	
4	425-6260 Armrest		\$35.00	\$	140.00	
4	American Aluminum 1/3 - 2/3 K9/pris transport		\$2,250.00	\$	9,000.00	
4	Ray Allen MD10 - Fan		\$65.00	\$	260.00	
4	425-5542 Computer mount base with 425-5483 exch.		\$180.00	\$	720.00	
8	Reverse Light LEDs		\$85.00	\$	680.00	
4	Lightbar remount bracket kit		\$110.00	\$	440.00	
				\$	-	
				\$	-	
Services	DESCRIPTION		Price	тот	TOTAL	
4	Installation of above equipment and cust owned equipment:		\$775.00	\$	3,100.00	
	radio, lightbar, siren/switchbox, siren speaker,			\$	_	
4	Shipping of K9 Kennels		\$125.00	\$	500.00	
				\$	-	
			SUBTOTAL	\$	15,940.00	
			TAX RATE		7.00%	
			SALES TAX	\$	-	
			OTHER			
			TOTAL	\$	15,940.00	

John Cauble

phone:(770)227-2200 web:www.Transcommservices.com email:john@transcommservices.com



105 Manley Rd Griffin, GA 30223 phone(770)227-2200 fax(770)227-2860

Proposal

Customer: Griffin Police Department	
Name: Lt. Darrell Dix	Date: 8/29/201
Address:	Quote #
City/St/Zip:	
Phone:	
email:	

Quantity	DESCRIPTION	Т	Price	TOTAI	L
				\$	<u> </u>
2	21TRPL47A4 - LED lightbar		\$1,175.00	\$	2,350.00
2	425-6636 Equipment Console - includes:		\$370.00	\$	740.00
	425-6611 Storage Box/Armrest			\$	-
2	475-0802 Partition		\$570.00	\$	1,140.00
2	475-0749 ABS Seat		\$310.00	\$	620.00
2	425-5542 Computer mount base with 425-5483 exch.		\$180.00	\$	360.00
				\$	•
				\$	•
				\$	-
				\$	-
Services	DESCRIPTION		Price	TOTA	L
2	Installation of above equipment and cust owned radio		\$585.00	\$	1,170.00
				\$	-
				\$	-
				\$	-
			SUBTOTAL	\$	6,380.00
			TAX RATE	-	7.00%
			SALES TAX	\$	-
			O/ ILLO I/O	Ι Ψ	
			OTHER	Ψ	_

John Cauble

phone:(770)227-2200 web:www.Transcommservices.com email:john@transcommservices.com